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· Test I next TuesdayE· Today is review



PartI
⑤ Compute E- where

i = (2, 0, 8 ,
- 4
,
10) and

~ = [0 ,5 ,
3
,
10,
-1 .

-

↳ - = =2 , 0 , 8,
- 4

,
10)

- <o , E 1 3,
10 - 1

=> <1 , 0 , 4 ,
- 2
,
5

- Co , [13 , 10,
-K

E,
1
,

- 12
, 67

T. = (2 , 0 , 8,
- 4
, 10). 0, - , 3 , 10

-1



= (4)(0) + (0)(i) + (8)(3)
+ ( - 4)(10) + (10) - 1)

= 0 + 0 + 24-40-10

= - 26W
-

What's the norm/length
of

3
->

u = (2 ,
0
,
8
,

- 4
,

10) ?

-

Hull 0+ (8)+ (-4)+ (10)

= 64 + 16 + 100

= 184 =13
,
56W



HWI-Part 2E
↳

D(d) (modified to (R3)Teland deR

Prove that
6(. ) = (d) of

f: Let i ,
el and deR.

i = <a , b ,c)
and

Then,
->

v = (d , e ,f)
where

a
,

b , , d , e ,
f -R

We have that

b(. ) = 2(a , b,) . (d
,
e
,
f)

= 2(ad + be + (f)



= Lad + dbe + 2Cf

Also we have that j(ai) . = ( <a , b , c) · (d, e,f) n
e

= [da , <b , xc) . (d,e ,f)

= Ladtabetaf

From above we see that

c (ii) = (i)T

-



---
-PartI

Compute 2 A + B
CT

where A = (3) , B
= /68 ; I

c = (18 +i)
-

ZA + BCT

(= 2(8) + (68 ! i) it
=(8i i

4 x 2
↑T T T



#
2x2 answer

x01 -1(π)(01 -x()
=(8 + (10 , 1)(i) 100 11 (i
= (8) +(ii)
= (8) + (2) =



HW 2 - Part ZU1(f)
Let A

,
B be 2x2 matrices .

IJProve that (AtB)= A+ BT

Prof: Let A , B be 2x2 matrices.

Then ,

A =3a) and B = (ii)
Where a , b ,

c
,
d
,
e
,
t
, g,
h are

real numbers.

We have that



(A + B)
+
= )) , a) + (i)

+

= late bithe

= late it e

Also,

ABT

= ItIt



= (e whld
Thus
,
(A+ BIT = A + BT

#
-



#D()Solve

I
x - y + 2z - w =

- 1

I2x + y - 2z
- (w = - 2

- x + 2y - Yz + w
= 1

3x - 3w = - 3
--

already

or
I

1 - 12 -
- I

( 1
- 2 - -2I- 12
- 41 I

3 00
- 3 - 3O
iTheseo- 2 R , +Rz

+ Rz 1 - 1 2 - 1 - I

->
O 3-60 O( IR

,
+ R3+ Rs

O I - 2 O O

- 3R
,
+ Ry - Ry O 3-6 y O



R2CR3
O 1 - 2 O Op
- + +

g I- O 3 - 6 O O

O 3 - 6 O O

Theseo

- 3RztRs t Rs I -12
- 1 - I

-- 0 1 - 2 0
O

- 3Rc+ Ry + Ry ( o o O O I O I
0 0 o o O

Back to equations :
leading

X - y + 2z - w =
- 1 WO x , Y

y - 2z = OgEWo = 0 free

G
z
,
W



Solve for leading vaiables &
give free variables

new names-

x =
- 1 + y - zz

+ W Q

y = 2z
②↳④

z = t
③

W = S

Back substitute
:

④ W = S

④ z =t

② y = 2z
= 2 t

D x = 1 + y - 2z +
w

=

- 1 + 2t - 2t + s
= - It S



Answer :
-

x = - 1 + S where

s
,
t

y = 2 tican

z = t
numbers

w = S


